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D-7012

M.Com. (Ist Semester) Examination, 2020

COMMERCE

(Advanced Accounting)

Time Allowed : Three Hours

Maximum Marks : 70

KeC[ - De

SECTION - A

veesš : efkeâvneR ome ØeMveeW keâe Gòej oerefpeS~ ØelÙeskeâ ØeMve Skeâ Debkeâ keâe

nw~ 1×10=10

Note : Attempt any ten questions. Each question carries

one mark.

Q. 1. efjòeâ mLeeve keâer hetefle& keâefjÙes :

Fill in the blanks :

(i) keâcheveer efJeOeeve Éeje efveefce&le ........... nw~

Company is _______ created by law.

(ii) ØeefleYetefle ØeerefceÙeve mebÛeÙe efÛešd"s ceW ........... Meer<e&keâ ceW

efoKeeÙee peelee nw~

D-7012D-7012 P.T.O.

Security premium reserve showed in under

the head of _______ in balance sheet.

(iii) SkeâerkeâjCe ........... Øekeâej kesâ nesles nQ~

Amalgamation of _______ types.

(iv) met$eOeejer keâcheveer ........... efÛešd"e lewÙeej keâjleer nw~

Holding company prepared _______ balance

sheet.

(v) ........... DebMeOeejer keâcheveer kesâ JeemleefJekeâ mJeeceer nesles

nQ~

_______ shareholder is actual owner of

company.

mener efJekeâuhe ÛegefveÙes :

Choose correct option :

(vi) hetJee&efOekeâej DebMe efveie&efcele efkeâÙee pee mekeâlee nw :

(De) meeJe&peefvekeâ keâcheveer Éeje

(ye) efvepeer keâcheveer Éeje

(me) ieejbšer Éeje meerefcele keâcheveer Éeje

(o) ieejbšer Éeje meerefcele keâcheveer keâes ÚesÌ[keâj meYeer kesâ

Éeje
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Preferential share issued by :

(a) Public company

(b) Private company

(c) Company Ltd. by guarantee

(d) All the above excluding Company Ltd.

by guarantee

(vii) $e+Cehe$e keâcheveer kesâ efÛešd"s ceW efkeâme Meer<e&keâ kesâ Debleie&le

ØeoefMe&le efkeâÙes peeles nQ :

(De) mJeeefcelJe keâes<e

(ye) iewj Ûeeuet oeefÙelJe

(me) Ûeeuet oeefÙelJe

(o) FveceW mes keâesF& veneR

Debenture showed in balance sheet under

the head of :

(a) Sharholder’s fund

(b) Non current liabilities

(c) Current liabilities

(d) None of these

(viii) SkeâerkeâjCe mes mebyebbefOele uesKee Øeceehe nw :

(De) 14

(ye) 16

(me) 18

(o) 20

Accounting standard related to amalgamation

is :

(a) 14

(b) 16

(c) 18

(d) 20

(ix) met$eOeejer keâcheveer kesâ meneÙekeâ keâcheveer ceW efJeefveÙeesie keâes

nševes mes Glhevve neslee nw :

(De) KÙeeefòe

(ye) hetbpeer mebÛeÙe

(me) KÙeeefle Ùee hetbpeer mebÛeÙe

(o) FveceW mes keâesF& veneR

Elimination of investment of holding

company in subsidiary company create of :
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(a) Goodwill

(b) Capital reserve

(c) Goodwill or capital reserve

(d) None of these

(x) cepeotjeW keâes osÙe jeefMeÙeeb nQ :

(De) jef#ele uesveoej

(ye) Dejef#ele uesveoej

(me) hetJee&efOekeâej uesveoej

(o) FveceW mes keâesF& veneR

Workmen's dues is :

(a) Secured creditor

(b) Unsecured creditor

(c) Preferential creditor

(d) None of these

(xi) efvemleejkeâ kesâ heeefjßeefcekeâ keâer ieCevee keâer peeleer nw :

(De) mebheefòeÙeeW keâer Jemetueer hej

(ye) Dejef#ele uesveoejeW keâes Yegieleeve keâer peeves Jeeueer

jeefMe hej

(me) DebMeOeeefjÙeeW keâes Yegieleeve keâer peeves Jeeueer jeefMe hej

(o) Ghejesòeâ meYeer Éeje

Computation of liquidator's remuneration by :

(a) Assets realized

(b) Amount paid to unsecured creditor

(c) Amount paid to shareholder's

(d) By all above

(xii) DebMeeW keâe efveie&ceve efkeâme cetuÙe hej efkeâÙee pee mekeâlee nw :

(De) mececetuÙe

(ye) ØeerefceÙece hej

(me) keâšewleer hej

(o) FveceW mes meYeer

Issue of shares in which price :

(a) Face value

(b) At premium

(c) At discount

(d) All of these

KeC[ - ye

SECTION - B

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 2 DebkeâeW keâe

nw~ 5×2=10
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Note : Attempt any five questions. Each question carries

2 marks.

Q. 2. Deefle ueIeg GòejerÙe ØeMve (25-30 Meyo) :

Very short answer type (25-30 words) :

(i) Deef«ece ÙeeÛevee mes Deehe keäÙee mecePeles nQ ?

What do you mean by calls in advance ?

(ii) $e+Cehe$e leLee DebMe ceW oes Deblej yeleeFÙes~

Explain two difference between debenture

and share.

(iii) Ûeeuet oeefÙelJeeW kesâ Ûeej GoenjCe oerefpeÙes~

Give four examples of current liabilities.

(iv) SkeâerkeâjCe keâe DeLe& yeleeFÙes~

Explain meaning of amalgamation.

(v) met$eOeejer keâcheveer efkeâmes keânles nQ ?

What is a subsidiary company ?

(vi) DeuhemebKÙekeâ efnle keâes mecePeeFÙes~

Explain minority interest.

(vii) hetJee&efOekeâej uesveoej keâes mecePeeFÙes~

Explain preferential creditor.

(8)
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SECTION - C

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 4 DebkeâeW keâe

nw~ 5×4=20

Note : Attempt any five questions. Each question carries

4 marks.

Q. 3. ueIeg GòejerÙe ØeMve (250 Meyo) :

Short answer type (250 words) :

(i) ABC keâcheveer efueefcešs[ Deheves DebMeOeeefjÙeeW keâes 5 DebMeeW

hej 2 DebMe osves keâe ØemleeJe keâjleer nw~ DebMe keâe efveie&ceve

cetuÙe 50 ` Øeefle DebMe nw Deewj yeepeej cetuÙe 80 ` Øeefle

DebMe nw~ DeefOekeâej keâe cetuÙe efveOee&efjle keâerefpeÙes~

ABC Company Ltd. offers two shares for

every 5 shares held to shareholders. The

issue price of share is ` 50 per share and

market price is ` 80 per share. Determine

the value of right.

(ii) $e+Cehe$eeW kesâ efJeefYevve ØekeâejeW keâes mecePeeFÙes~

Explain various types of debentures.
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(iii) SkeâerkeâjCe kesâ GösMÙe yeleeFÙes~

Give objects of amalagmation.

(iv) hetbpeer Ieševes keâe keäÙee DeLe& nw ? Fmemes mebyebefOele hebpeer

ØeefJeef°Ùeeb oerefpeÙes~

What is meant by reduction of capital ? Give

journal entries related to this.

(v) Devle: keâcheveer JÙeJenej kesâ Ûeej GoenjCe oerefpeÙes~

State four examples of inter company

transactions.

(vi) efvemleejkeâ kesâ Debeflece efJeJejCe Keelee keâe vecetvee oerefpeÙes~

Give specimen of liquidator's final statement

of accounts.

(vii) keâcheveer kesâ efÛešd"s keâe met#ce Øee™he lewÙeej keâerefpeÙes~

Prepare abridged form of balance sheet of a

company.

KeC[ - o

SECTION - D

veesš : efkeâvneR leerve ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve ome DebkeâeW keâe

nw~ efveyebOeelcekeâ ØeMve (Meyo meercee 500 Meyo mes DeefOekeâ)~

Note : Attempt any three questions. Each question

carries 10 marks. Essay type (word limit more

than 500 words) :

Q. 4. (i) Skeâ keâcheveer kesâ hegvee|vecee&Ce hej efvecve MeleX mJeerke=âle keâer

ieÙeeR : DebMeOeejer keâes Deheves efJeÅeceeve DebMeeW (pees 10 ` Jeeues

50,000 DebMe nQ) kesâ yeoues ceW efvecveefueefKele Øeehle keâjvee

nw :

(De) Deheves efJeÅeceeve DebMeeW kesâ 215 Yeeie kesâ yejeyej

hetCe&oòe mecelee DebMe

(ye) GheÙeg&òeâ veÙes mecelee DebMeeW kesâ 1/5 lekeâ 5% hetCe&oòe

hetJee&efOekeâej DebMe

(me) 60,000 `, 6% efÉleerÙe $e+Cehe$e

50,000 ` kesâ ØeLece $e+Cehe$eeW keâe efveie&ceve Je DeeJeCšve

efkeâÙee ieÙee efpemekesâ efueÙes Yegieleeve veieoer ceW Øeehle ngDee~

KÙeeefle pees 3,00,000 ` Leer, 1,50,000 ` lekeâ

DeheefueefKele keâj oer ieÙeer~ hueeCš Je ceMeerve pees 1,00,000

` kesâ Les Iešekeâj 75,000 ` kesâ keâj efoÙes ieÙes~ øeâernesu[

SJeb hešdšs hej YeJeve keâes pees 1,50,000 ` keâe Lee, Iešekeâj
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1,25,000 ` keâj efoÙee ieÙee~ GheÙeg&òeâ JÙeJenejeW kesâ

DeeOeej hej keâcheveer keâer hegmlekeâeW ceW peve&ue kesâ DeeJeMÙekeâ

uesKes keâerefpeÙes~

On the reconstruction of a company the

following terms were agreed upon :

The share holders to receive in lieu of their

present holding (Viz, 50,000 shares of ` 10

each) the following :

(a) Fully paid equity shares equal to 2/5th of

their holding.

(b) 5% preference shares, fully paid, to the

extent of 1/5 of the above new equity

shares.

(c) ` 60,000, 6% second debentures.

An issue of ` 50,000, 5% first debentures

was made and allotted. Payment for the

same have been received in cash. The

goodwill, which stood at ` 3,00,000 was

written down to ` 1,50,000. The plant and

machinary which stood at ` 1,50,000 was

written down to ` 75,000. The freehold and

leasehold premises which stood at `

1,50,000 were written down to ` 1,25,000.

Make necessary journal entries in the books

of the company on the basis of above

transactions.

(ii) X efueefcešs[ ves ØelÙeskeâ 100 ` Jeeues 5,000, 9% $e+Cehe$e

efveie&efcele efkeâÙes~ efvecveefueefKele oMeeDeeW ceW $e+Cehe$eeW kesâ

efveie&ceve kesâ efueÙes jespeveeceÛee ØeefJeef°Ùeeb keâerefpeÙes :

(De) Ùeefo $e+Cehe$eebs keâes mececetuÙe hej efveie&efcele efkeâÙee

peeÙes Deewj mececetuÙe hej MeesOeveerÙe neW~

(ye) Ùeefo $e+Cehe$eeW keâes 10% ØeerefceÙece hej efveie&efcele

efkeâÙee peeÙes Deewj mececetuÙe hej MeesOeveerÙe neW~

(me) Ùeefo $e+Cehe$eeW keâes 5% yešdšs hej efveie&efcele efkeâÙee

peeÙes Deewj mececetuÙe hej MeesOeveerÙe neW~
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(o) Ùeefo $e+Cehe$e mececetuÙe hej efveie&efcele efkeâÙes peeÙeW

Deewj 10% kesâ ØeerefceÙece hej MeesOeveerÙe neW~

(Ùe) Ùeefo $e+Cehe$e 5% keâšewleer hej efveie&efcele efkeâÙes peeÙeW

Deewj 10% kesâ ØeerefceÙece hej MeesOeveerÙe neW~

(j) Ùeefo $e+Cehe$e 5% ØeerefceÙece hej efveie&efcele efkeâÙes

peeÙeW Deewj 5% ØeerefceÙece hej MeesOeveerÙe neW~

X Ltd. issued 5,000, 9% debentures of ` 100

each. Give journal entries for issue of

debentures in the following cases :

(a) If the debentures are issued at par and

are repayble at par.

(b) If the debentures are issued at 10%

premium and repayble at par.

(c) If the debentures are issued at a

discount of 5% and are repayble at par.

(d) If the debentures are issued at par and

are repayble at a premium of 10%.

(e) If the debentures are issued at a

discount of 5% and are repayble at a

premium of 10%.

(f) If the debentures are issued at a

premium of 5% and are redeemable at

a premium of 5%.

(ii) SÛe. efue. ves Sme. efue. ceW 31 ceeÛe&, 2014 keâes DebMe Øeehle

efkeâÙes nQ~ Gme efove efÛeªs efvecve Øekeâej Les :

efJeJejCe SÛe.efue. Sme.efue.

` `...

I mecelee Je osÙeleeÙeW :

mJeeefcelJe keâes<e :

DebMe hetBpeer (10 ` Jeeues hetCe&oòe) 1,20,000 60,000

mebÛeÙe Je DeeefOekeäÙe :

mebÛeÙe   30,000 15,000

ueeYe-neefve efJeJejCe : DeeefOekeäÙe  20,000 15,000

Ûeeuet oeefÙelJe :

JÙeeheeefjkeâ uesveoej 1,05,000 30,000

2,75,000 1,20,000

II mebheefòeÙeeB :

efJeefJeOe mebheefòeÙeeB 2,00,000 1,20,000

Sme efue. kesâ 6,000 DebMeeW

ceW efJeefveÙeesie 75,000 —eseseses

2,75,000 1,20,000

efceefßele efÛeúe yeveeFÙes~
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H. Ltd. has acquired shares in S. Ltd. on

31st March, 2014. The balance sheets on this

date were as follows :

Particulars H.Ltd. S.Ltd.

` `...

I EQUITY & LIABILITIES :

Shareholder's Funds :

Share capital in

(` 10 fully paid) 1,20,000 60,000

Reserve and surplus :

Reserves    30,000 15,000

Statement of P&L

A/c - Surplus   20,000 15,000

Current Liabilities :

Trade Payables 1,05,000 30,000

2,75,000 1,20,000

II ASSETS :

Sundry assets 2,00,000 1,20,000

Investment in 6000

shares of S. Ltd. 75,000 —....

2,75,000 1,20,000

Prepare a consolidated balance sheet.

(iv) DebMeeW kesâ njCe mes Deehe keäÙee mecePeles nQ ? DebMeeW kesâ njCe

SJeb hegve: efveie&ceve nsleg hebpeer ØeefJeef°ÙeeB oerefpeÙes~

What do you understand by forfeiture of

shares ? Give journal entries for forfeiture and

reissue of shares.

——

(16)

D-7012 100D-7012 P.T.O.


